

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

03/21/2025 09:00 AM | Drive & Install Early Set Up for Chandelier B 03/22/2025 09:00 AM | Final Touches for Chandelier Ball Room 2&3 (W 03/22/2025 09:00 AM | Install Event Lawn (Ceremony) (4 guys) 03/22/2025 09:00 AM | Install Great Lawn (Cocktail Hour & Dinner) ( 03/22/2025 09:00 AM | Install Chandelier Ballroom 4 (After Party) ( 03/22/2025 09:00 PM | Strike Event Lawn & Great Lawn TBD? PO: Shipping Address: Rosewood Miramar Montecito 1759 S JAMESON LN MONTECITO, CA 93108

## IN-0007830

Shannon Leahy Events 1862 Union Street San Francisco, CA 94123

Invoice Date: Due Date: Upon Receipt

Salesperson: Brandon Dunn

Description		Qtty	Price		Total
Wedding / Gran	d Lawn				
	Garden Gazebos & Cabanas - 10' X 10' Cabana Frame (in Stock Fabric Included) COCKTAIL HOUR 10'L X 10'W x 12'H COLOR: BHER UNDERGROUND GARDENS 2674 No Slats Supporting (8) Lane Pendants from Bella Vista. 10' x 10' x 10' - Chandelier not included	1	\$1,800.00	Т	\$1,800.00
	Garden Gazebos & Cabanas - Half Round Frame Cabana CEREMONY LAWN COLOR HIGH GLOSS ARCADE WHITE CONFIRMED 2/24 11'8"W x 5'4"D x 8'9"H	1	\$2,000.00	Т	\$2,000.00
	Pendant Lamp - Hamptons - 6 Lights - Multicolor PAINTED HIGH GLOSS ARCADE WHITE CONFIRMED 2/24 Confirm Chain Color Gold (Please send 50' for all lighting (Revelry & Bella Vista) 49"w x 15"D x 23"H   15lb	4	\$150.00	Т	\$600.00
	Custom Made SINGLE ARM LAMP POSTS Redesign to support Hampton Large Pendant Two Chain Connection to post. CHAIN COLOR Gold POWER CORDS / CONNECTION TO BE HIDDEN INSIDE. Color : WHITE WASH TO MATCH ASPEN CHIARS SCHEDULE 40 PIPES from B	4	\$750.00	Т	\$3,000.00
	Custom Made 4 ARM LAMP POSTS Supporting 8 Lane Pendants from Bella Vista. REVELRY TO RIG ONSITE / BELLA VISTA TO POWER POWER CORDS / CONNECTION TO BE HIDDEN INSIDE. Color : WHITE WASH TO MATCH ASPEN CHIARS SCHEDULE 40 PIPES from	2	\$1,150.00	Т	\$2,300.00
	Booths - Monaco - Round White Velvet 2pc Set 6⤠¤ 10"w3⤠¤ 2123⤠¤ 3"H	8	\$600.00	Т	\$4,800.00
	Dining Chairs - Aspen - White Wash W/ Oatmeal Linen 18"X 21" X 32"H	152	\$25.00	Т	\$3,800.00

Description		Qtty	Price		Total
	Bars - Bora Bora - Wood & Rattan Square Full Set Bar COCKTAIL HOUR COLOR: UNDERGROUND GARDENS 2674 FLORAL PATTERN INSERTS : ARTWORK PROVIDED BY CLIENT. DIMENSIONS OF INSERTS Bar Front - 25 1/4 x 34" 1/4 H Bar Corner - 19"w x 39"H (2 per Corner) CON 12'W x 12'L x 44"H	1	\$4,000.00	Т	\$4,000.00
			Total Wedding / Grand Lawn		
Wedding / Ballr	oom				
R	Dining Chairs - Frankfurt - Channeled Boucle Round - Off White 24⤠¤ ₩22⤠¤ ±34⤠¤ H	16	\$25.00	Т	\$400.00
T	Small Dining Tables - Panama - White Wash 36" Diam x 30"H	4	\$250.00	Т	\$1,000.00
T	Stand Up Tables - Panama - White Wash 36" Diam x 42"H	4	\$275.00	Т	\$1,100.00
	Communal Tables - Amsterdam - White 10' HIGH GLOSS ARCADE WHITE APPROVED 2/24 10'W x 36"L x 42"H	2	\$250.00	Т	\$500.00
	Barstools - Frankfurt - Channeled Boucle - Off White 30" x 22" x 45"H	16	\$30.00	Т	\$480.00
	Stage Fronts - Boston - Mirror 6'x24" 4 at Front of Stage / 1 on left side NO MIRRORS COLOR: BHER BOREAL 267-5 PLEASE ADD CORNER PIECES. CONFIRMED 2/24 6'l x 24"b. Custom Frame Color Upon Paguaget	5	\$50.00	Т	\$250.00
	6'L x 24"H - Custom Frame Color Upon Request Stage Fronts - Boston - Mirror 8'x24" On left side NO MIRRORS COLOR: BHER BOREAL 267-5 PLEASE ADD CORNER PIECES. CONFIRMED 2/24 8'L x 24"H - Custom Frame Color Upon Request	1	\$70.00	Т	\$70.00
	Stage Fronts - Boston - Mirror 7' On right side NO MIRRORS COLOR: BHER BOREAL 267-5 PLEASE ADD CORNER PIECES. CONFIRMED 2/24 7'L x 24"H - Custom Frame Color Upon Request	2	\$60.00	Т	\$120.00
	Custom Made Stage steps 24"W x 27"D x 24"H 3 steps @ 8"H x 9"D COLOR: BHER BOREAL 267-5 CONFIRMED 2/24	2	\$575.00	Т	\$1,150.00

escription		Qtty	Price		Total
	Band Stage Drape Stock 30'L x 11'H White Velvet Drape 30' x 11'H Add Pipe and Base Please AIRWALL DRAPE ONLY	30	\$16.50	Т	\$495.00
Non Contraction	Custom Draping for Stage STAGE BACKDROP DRAPE 18"W x 18'5"H COMO Sage Green Velvet to match table linen swatch. 2 x Sage Green Tassels Photo Provided by client Valance to Match Pipe and Base CONFIRMED 2/24	2	\$1,430.00	Т	\$2,860.00
	Custom Draping for Dancing Bar AIRWALL DRAPE BEHIND BAR 52' W x 11'H in COMO Sage Green Velvet to match table linen swatch. Valance to Match Pipe and Base CONFIRMED 2/24	1	\$3,430.00	Т	\$3,430.00
		Total Wedding / Ballroom			\$11,855.00
fter Party DJ	Backdrop				
	Pacific Como Velvet 52'L x 11'H Pacific Blue COMO Velvet Straight Pleated Look 52'L x 11'H VALANCE TO MATCH Add Pipe and Base CONFIRMED 2/24	1	\$858.00	Т	\$858.00
	Panels - Laser Cut Mexican Papel Picado Skulls 102â® W 122â® M H PAINTED HIGH GLOSS BHER DEEEP BREATH 282-7 BELLA VISTA TO LIGHT (4 PAR 20'S + GELS) CONFIRMED 2/24 102â® W 122â® M H	1	\$1,200.00	Т	\$1,200.00
		Total After Party DJ Backdrop			\$2,058.00
Services					
	Drive & Install Early Set Up Chandelier Ballroom 2&3 - 4 guys (Friday 3/21)	4	\$650.00		\$2,600.00
	Final Touches in Ballroom 2&3, Set Up Great Lawn & Event Lawn -4 guys (Sat. 3/22)	4	\$550.00		\$2,200.00
	Drive & Install Lamp Posts (Saturday 3/22) Two Guys	2	\$650.00		\$1,300.00
	Strike Lawn - 4 guys (Sat. 3/22)	4	\$650.00		\$2,600.00
	Strike of Lamp Post & Drive (Sunday 3/23) Two Guys / 1 day each	2	\$650.00		\$1,300.00
	Strike After Party Ballroom 4 (4 guys)	4	\$650.00		\$2,600.00
	Trucking & Gas 2 Trucks Furniture / 2 Truck Lamp Posts	4	\$800.00		\$3,200.00
	3 Hotel Rooms (4 guys + Supervisor) Estimate	3	\$650.00		\$1,950.00
	1 Hotel Room (2 Lamp Post Guys, 1 Night only)	1	\$350.00		\$350.00
	Two Guys				

Description	Qtty	Price	Total
Per Diems for Lamp Post Guys Two Guys / 2 day each	4	\$74.00	\$296.00
			<u> </u>
Please make checks payable to Revelry, Inc.		Total Products:	\$36,213.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total La	bor/Services/Misc:	\$19,776.00
Please ready the contract and sign it	W	ear & Tear (6.00%):	\$2,172.78
······································		Packing (3.00%):	\$1,086.39
Notes		Taxes :	\$3,440.24
		Discounts:	(\$0.00)
		Total:	\$62,688.41

Payments:

Balance:

(\$62,688.40)

\$0.00